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&5 X 4 ia; Tﬁn“ﬁzﬁ\(i)wﬁﬁ%ﬁ jj(giacr:f)é X 4 ‘Fﬁﬁﬁg\%l;g)n;kqi ia; jj(lfl?litr’f)é X 4 ia; J:ﬁn“ﬁ;b\(‘z)wtt?% jj(giacr:f)é X 4 J:ﬁﬁh\(‘z)a)tt?% ia; j:(z;?tn%é
P 100kN/mM%BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3mZiBZ % - ~ — — —
FhLst 1.00 | 0.00 ~ 4.53 56.56 | =nLs | 0.oo ~ 000\ 1.567 8.40 st 1.00 | 6.00 ~ 5.00 56.66 | NS | 5,00 ~ 5.00)| 1.57 840
2 100kN/m%E#B25| 1.00| 000 ~ 200| 13090 |3mZE#Bz2B| — ~ — — — | 100kN/mM%x#%25 | 1.00 | 1211 ~ 2900| 130.90 |3mE#BZ5 - ~ — — —
zhst 1.00 | 200 ~ 9.78| 100.00 | Ths (000 ~ 978|273 14.62 zhst 1.00 | 6,00 ~ 1211 100.00 | ZhLS | 5,00 ~ 29.00| 2.73 14.62
3 100kN/m%E#B25 | 1.00| 000 ~ 1.85| 12848 |3mZz#Bz25| — ~ — — — | 100kN/mM%E#%25 | 1.00 | 1251 ~ 2960 12848 |3mE#BZb - ~ — — —
Thilst 1.00 | 1.8 ~ 964 100.00 | =nhst | 000 ~ 9.64| 2.70 14.47 Thilst 1.00 | 5.00 ~ 1251 100.00 | =ndst | 6.00 ~ 29.60| 2.70 14.47
4 100kN/m%E#8z5 | 1.00 | 000 ~ 1.55| 12368 |3mZz#Bz3| — ~ — — — | 100kN/mMZ&#z25 | 1.00 | 1085 ~ 17.00| 12368 |3mE#BZ5b - ~ — — —
s 1.00 | 1.56 ~ 9.54 100.00 | =nLSt | 000 ~ 934 225 12.04 ThList 1.00 | 5.00 ~ 1085 100.00 | =hst | 6,00 ~ 1700 225 12.04
5 100kN/mM%#BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 477 59.50 | =St | 000 ~ 000|171 917 ThList 1.00 | 6.00 ~ 56.00 59.50 | =hS | 6.00 ~ 500 1.71 917
100kN/mM%#BZ 5 ~ ImERBAD ~ 100kN/m##8 %% ~ ImEBZD ~
zhs ~ ZhnLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
zhs ~ ZhnLst ~ zhs ~ ZhnLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
zhs ~ ZhnLst ~ zhs ~ ZhnLst ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM%#8 %% ~ ImEEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#B2. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ IMEEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%{BZ. 5 ~ ImERBAD ~ 100kN/m%#8% % ~ ImEEBZD ~
zhs ~ ZhnLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ ImEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ ImEBZD ~
zhLst ~ LSt ~ zhLst ~ zhLst ~




